#HWIBLRALS
107 £3 81 A 4L ET R

P& T iR
EL—-

SRARIAL

T_\.T.
'gj} S A

% HEZ 4R . JE LR

A AT

v ReB(L) 0 HHLDELRL BT - ErHITIA > 000 @
LS 0 RVEREL S BRI K> @ @0 @@

DA B Rl o TR B R B M RMELTEARS B T o I |

—- ~ BIFIRH(3E 25 A 100%)

1. ILBEs A= 1697 suy » 481 B 5 3466 wiagl H2 ez o
Mot Bh BB AFL S LS ?
(1) 17697
(2) 18697
(3) 2231w
(4) 51637y

hu)

2. 1gErsk BrEs 60( e (  )ALEALHLAL

ARABE B4 s ?
(1)
(2)
()
4) =

NMXR
Ja

A
A

NMXR

NS

—‘\‘i‘{j?ﬂd/

YR
=

25

3. —FRIEREHF: 8 Uy 0 —-FaL A x 24 HRD 0 BLEr
FTES M RIS TS s ?
(1) 960 7t
2) 232 ¥
3) 160 s
(4) 37 ¥

107 25580 R B2L BT N RIAR BT B 28 Fo @O MO 20H R AL

(1) 10 2%
&
() 2025 oA
(3) 24 i sys 4
&
4) 48 i e
( ) N TR /]7\5

5. MIZIBLNAIRLA T 6B F g BB LR
A= 533 0 BB RC LR IEY 0 B
FLgkeHL 20 AL > FHLELHLEF S L DLAL

iR
(1)
(2)
©)
(4)

(2)

3)
(4)

LahgEC?
106 A%
125 A5
600 A%
2200 A5

= 12 i > WO EkIeze TE 33E

%2 1 Ae £4L 3 B



» 5066 B2 Bi fordhe ML RS SN 7

1 gheBZ 2 500

T~ 9 BRu B L~ 452

V8 BRvE L L 26

(4) WiA 84 fhodiir 2

9. WoiE% > FryLARHEL B E R T EHLaYE
AR kr?

(1) »*

10. Trs e R E LR 0 Ty L e T2

57 5 e T 2P

>
[NES
&
I

(2) 122R+ 3B iyt
(3) 12:R+ 30 »isns
(4) 1 2R+ 8nins
11, Foglefaedsayt Eigikig: ?

1800 »; 0.
/\« ﬁ_ﬂ 80 iié
110 48¢ 100 % %7

\EP_

—_— )f $«< <

107 4280 R 2L BTN RIS, BIALR E1 28 FL R MO 2L R AL

12. FLE%Z&

o=t

P (At &

v

14. 53

15.

16.

15
16
17
19

(1)
(2)
3)
(4)

2% <
)=

1)
(2)

Rz 73010, &

1529
4 9 8
2127

+

1)
()
©)
(4)

oo N - O

2% <
)= I

Frali A 4Bl Al

1)
()
©)
(4)

+ 10 fx5 > #ZTFL 0

1 BRG
1B

510 f55 > 2T 8L AL 4

P2 L NI ABE B ?

[] M B AR

BSEL LR R

T

& 3 E;
<y HX .
7N A



17. B8Ry Ry iR 13 28 % 8 Bk 22. HiHiET 0 T3MIAL 20 T, W T2 AL
H AN

Btews— Rl 8RS NE 55 S BLKT (1) 3018 & 37
(1) 14 »ipt 7 ZLke (2) 1200 ¢ %2
ELoko (3) 1020 & %7

Bk (4) 120 »f %2

>
[N
&
Nnl
|_\

—~
N
p —
|_\
N = N RS
Y
>
MXR
N
&y
I
(o]

—~
N
~
N

>
N
S
Nal
w
(i
Rl
¥

13

23. BiEsE7 » 625X4=9
18. #ips s FrBr Pty By £ T &AL A48 9 (1) 2400

(2) 2480
m (3) 2500
W (4) 24820

(1) 14 24. 51 87 Mt REFLHE S 8 AN R 0 BVEL
(2) 21%% NePAE R R BET A AR AR P B RID T
(3) 31k: HoFBT P TFo@mpRe—-ABS B Ko Feh B Kok
(4) 515 EreEs ?

(1) 51+6=8---3

19. FopleARfBE $o ki Hes 10 897 —601 ay2 Ar £+ 7
(1) 100 (2) 51+8=6---2

DF
<3
&
I
SN

v 3 Faz

Juj
by
oo
i
[
2
B

(2) 200 Koot 43 6 387 0 #IFL 2 fA2
(3) 300 (3) 51+8=3-6
(4) 400 Kot 4yc43e 3 %87 0 F-F o 6 fa2

(4) 51-+-8=6---3

20. HiESBS B MLBPLIT IR 0 AHE NI B SR LALED
Mo broo SR ke Pkl eRE —ES o
TP AL AT s R RS ARG 7
(1) Z2RiEL— B ACEY A

=<
&
rn
>N
Jul
ok
D
i
C)

» FIDTF S 3 AL

i

25. MBS ZAREL — AR Kb — B BAHEL L5 AL
Bre o BB EAREL L RE 4RI 1L E

(2) & RSeyiH T R-E S BrEs Fub 1L B LRES SELR B RS 2

(B) BEMIFSHiayBH A B (1) 13%iEs4E8

(4) #>R5Huats KRG B9 BRI B 2 B AR (2) 1po&skés

(3) —H#HrX

21, #5 B 3MBEFS T s L B2 eEE 4 ? (4) Frfer b
(1) 3@
(2) 30 @i
(3) 300 1@}
(4) 3000 1@}

107 25 40 R BLF NIRRT BAL I &1 =5 Fo R B 2L R A F» 3R« %L 3 RAw



